
𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑎𝑡𝑜𝑚𝑠 𝑖𝑛 1 𝑚𝑜𝑙 𝑜𝑓 𝑐𝑎𝑟𝑏𝑜𝑛?

𝐴𝑡𝑜𝑚𝑠 𝐶 = 1 𝑚𝑜𝑙 𝐶 ×
6.02 × 10ଶଷ 𝑎𝑡𝑜𝑚𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 6.02 × 10ଶଷ 𝑎𝑡𝑜𝑚𝑠 𝐶

𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑚𝑜𝑙𝑒𝑠 𝑖𝑛 5 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝑜𝑓 𝑐𝑎𝑟𝑏𝑜𝑛 𝑑𝑖𝑜𝑥𝑖𝑑𝑒?

𝑚𝑜𝑙 𝐶𝑂ଶ = 5 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐶𝑂ଶ  ×
𝑚𝑜𝑙

6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 8.31 × 10ିଶସ 𝑚𝑜𝑙 𝐶𝑂ଶ

6.02 × 10ଶଷ 𝑝𝑎𝑟𝑡𝑖𝑐𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑎𝑡𝑜𝑚𝑠 𝑜𝑓 𝑜𝑥𝑦𝑔𝑒𝑛 𝑖𝑛 1 𝑚𝑜𝑙 𝑜𝑓 𝑐𝑎𝑟𝑏𝑜𝑛 𝑑𝑖𝑜𝑥𝑖𝑑𝑒?

𝐴𝑡𝑜𝑚𝑠 𝑂 = 1 𝑚𝑜𝑙 𝐶𝑂ଶ ×
6.02 × 10ଶଷ𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

2 𝑎𝑡𝑜𝑚𝑠 𝑂

1 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒 𝐶𝑂ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 1.204 × 10ଶସ𝑎𝑡𝑜𝑚𝑠 𝑂

𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝑜𝑓 𝑐𝑎𝑟𝑏𝑜𝑛 𝑑𝑖𝑜𝑥𝑖𝑑𝑒 𝑖𝑛 1 𝑚𝑜𝑙 𝑜𝑓 𝑐𝑎𝑟𝑏𝑜𝑛 𝑑𝑖𝑜𝑥𝑖𝑑𝑒?

𝑀𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐶𝑂ଶ = 1 𝑚𝑜𝑙 𝐶𝑂ଶ ×
6.02 × 10ଶଷ𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐶𝑂ଶ

𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒 = 𝑚𝑜𝑙𝑒𝑐 Short form

5 ÷ 6.02𝐸23 = 8.31𝐸 − 24 Calculator

𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑎𝑡𝑜𝑚𝑠 𝑜𝑓 𝑜𝑥𝑦𝑔𝑒𝑛 𝑖𝑛 50 𝑔 𝑜𝑓 𝑜𝑥𝑦𝑔𝑒𝑛 𝑔𝑎𝑠?

𝑎𝑡𝑜𝑚𝑠 𝑂ଶ = 50𝑔 𝑂ଶ ×
1𝑚𝑜𝑙

16𝑔
⎯⎯⎯⎯⎯×

6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

2 𝑎𝑡𝑜𝑚𝑠 𝑂

1 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒 𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 1.88 × 10ଶସ𝑎𝑡𝑜𝑚𝑠 𝑂ଶ

𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑚𝑎𝑠𝑠 𝑜𝑓 3.18 × 10ଶସ 𝑎𝑡𝑜𝑚𝑠 𝑜𝑓 𝑠𝑜𝑑𝑖𝑢𝑚?

𝑚𝑎𝑠𝑠 𝑁𝑎 = 3.18 × 10ଶସ𝑎𝑡𝑜𝑚𝑠 𝑁𝑎 ×
1𝑚𝑜𝑙

6.02 × 10ଶଷ𝑎𝑡𝑜𝑚𝑠
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

23𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯= 121.49 𝑔 𝑁𝑎

𝐶𝑎ିଶ(𝑁𝑂ଷ)ିଵ

     𝐶𝑎(𝑁𝑂ଷ)ଶ
𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑎𝑡𝑜𝑚𝑠 𝑖𝑛 𝑜𝑛𝑒 𝑚𝑜𝑙𝑒 𝑜𝑓 𝑐𝑎𝑙𝑐𝑖𝑢𝑚 𝑛𝑖𝑡𝑟𝑎𝑡𝑒?

𝑎𝑡𝑜𝑚𝑠 = 1 𝑚𝑜𝑙 𝐶𝑎(𝑁𝑂ଷ)ଶ ×
6.02 × 10ଶଷ𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

1 𝑚𝑜𝑙 𝐶𝑎(𝑁𝑂ଷ)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

9 𝑎𝑡𝑜𝑚𝑠

1𝐶𝑎(𝑁𝑂ଷ)ଶ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ = 5.418 × 10ଶସ 𝑎𝑡𝑜𝑚𝑠

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑚𝑎𝑠𝑠 𝑜𝑓 2 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝑜𝑓 𝑤𝑎𝑡𝑒𝑟 𝐻ଶ𝑂.

𝑚𝑎𝑠𝑠 𝐻ଶ𝑂 = 2 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐻ଶ𝑂 ×
1𝑚𝑜𝑙

6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

18 𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯ = 5.98 × 10ିଶଷ 𝑔 𝐻ଶ𝑂

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝑖𝑛 48 𝑔 𝑜𝑓 𝐶𝐻ସ.

𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐶𝐻ସ = 48 𝑔 𝐶𝐻ସ ×
𝑚𝑜𝑙

16𝑔
⎯⎯⎯⎯=

6.02 × 10ଶଷ𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 1.806 × 10ଶସ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐶𝐻ସ

𝐻𝑜𝑤 𝑚𝑎𝑛𝑦 𝑎𝑡𝑜𝑚𝑠 𝑖𝑛 80 𝑔 𝐶𝑂ଶ?

𝑎𝑡𝑜𝑚𝑠 𝐶𝑂ଶ = 80 𝑔 𝐶𝑂ଶ ×
1 𝑚𝑜𝑙 

44 𝑔
⎯⎯⎯⎯⎯⎯×

6.02 × 10ଶଷ𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

3 𝑎𝑡𝑜𝑚𝑠

𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯ = 3.28 × 10ଶସ  𝑎𝑡𝑜𝑚𝑠 𝐶𝑂ଶ

𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑚𝑎𝑠𝑠 𝑜𝑓 ℎ𝑦𝑑𝑟𝑜𝑔𝑒𝑛 𝑖𝑛 𝑜𝑓 3.24 × 10ଶସ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝑜𝑓 𝐻ଶ𝑂?

𝑔 𝐻 = 3.24 × 10ଶସ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐻ଶ𝑂 ×
1 𝑚𝑜𝑙

6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 𝐻ଶ𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 5.38 𝑚𝑜𝑙 𝐻ଶ𝑂

5.38 𝑚𝑜𝑙 𝐻ଶ0 ×
2(1𝑔)

𝑚𝑜𝑙
⎯⎯⎯⎯⎯ = 10.76 𝑔 𝐻 5.38 𝑚𝑜𝑙 𝐻ଶ0 ×

2 𝑚𝑜𝑙 𝐻

𝑚𝑜𝑙 𝐻ଶ𝑂
⎯⎯⎯⎯⎯⎯⎯⎯×

1𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯= 10.76 𝑔 𝐻

What is the mass of hydrogen in 5.38 moles of 𝐻ଶ𝑂?

OR
𝑚𝑜𝑙 (𝑠)

𝑚𝑜𝑙 (𝑠)
⎯⎯⎯⎯⎯⎯⎯

1 × 6.02𝐸23 = 6.02𝐸23 Calculator
𝑚𝑜𝑙 (𝑠)

𝑚𝑜𝑙 (𝑠)
⎯⎯⎯⎯⎯⎯⎯
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